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(2) W2 ®KE 0.09 0.09 0.08
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(6) FkE6 W2 0.07 0.08 0.10
(1) M7 K2 0.23 0. 11 0.10
(8) FHES W& 0.18 0.13 0. 09
(9) M9 K 0.44 0.17 0.12
(10) MHE10 K& 0.54 0.17 0.14
(1) W11 &S 1.1 0.24 0.15
(12) M1 2 K& 0.40 0.15 0.12
(13) MHE1 3 KE 0.23 0.12 0.10
(14) WHE1 4 BE 0.10 0.09 0.08
(15) FEkE1 5 fhik 0.16 0. 11 0.10
(16) FEhE1 6 fhif 0.11 0.09 0.08
(17) k&1 7 HiE 0.51 0.16 0.12
(18) FukE 1 8 fhik 0.24 0.12 0.10
(19) FEkE1 O fhik 0.29 0.15 0. 09
(20) FEHE2 O fhik 0.42 0.15 0.10
(21) FEHE2 1 fhik 0.35 0.18 0.12
(22) FEHE2 2 HhiF 0.29 0.14 0.10
(23) FEHE2 3 fhik 0.14 0.09 0. 09
(24) TEHE2 4 HhiF 0.32 0.12 0.08




Ttz

BIEHER
B TE Hh (R4 2B8—R)L hX—=FT—)
#h_E5cm #h_E50cm #h E1m
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